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Abstract—In this paper, we study the existence of positive
solutions for an initial value problem (IVP) of a state-dependent
hybrid functional differential equation. The continuous depen-
dence of the unique solution will be proved. Some special cases
and examples will be given.
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I. INTRODUCTION

IN the last years, quadratic perturbations of nonlinear
equations have received a lot of attention from special-

ists. This type of equations called hybrid equations. Many
specialists work on the theory of hybrid equations, see for
example [9], [22], [30].

Usually, the equations of deviating arguments are with
deviation depends only on the time, however, when the devi-
ation of the arguments depend upon both the state variable ξ
and also the time t is incredibly important theoretically and
practically. This type of equations is named self-reference or
state-dependent equations.

Equations which have state-dependent delays attract the at-
tention of specialists since it have plenty of application mod-
els, like the two-body problem of classical electrodynamics,
also have many applications in the class of problems that
have past memories, for example in hereditary phenomena,
see [15-18]. Several papers have devoted to this category of
equations, see for instance [1], [7]-[16], [19], [20] and [21]-
[29].

One of the first studies in this field was introduced by Eder
[11], the author studied the problem

ξ′(t) = ξ
(
ξ(t)

)
t ∈ A ⊂ R.

with the condition ξ(t0) = ξo.
A generalization of Eder’s results was introduced by Fečkan
[19], the author worked on the problem

ξ′(t) = ψ
(
ξ(ξ(t))

)
, t ∈ A ⊂ R

where ψ ∈ C1(R).
The problem

ξ′(t) = ψ (t, ξ(ξ(t))), t ∈ [a, b]

ξ(0) = ξo
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was studied by Buicá [8] where ψ satisfied Lipshitz condi-
tion.
EL-Sayed and Ebead [16] relaxed the assumptions of Buicá
and generalized their results, they studied the delay-refereed
problem

ξ(t) = ψ (t,

∫ t

0

η
(
s, ξ(ξ(s))

)
ds), t ∈ [0, T ]

where η satisfies Carathèodory condition.
El-Sayed and Ebead [14] and [15] studied the delay-refereed
problem

d

dt
ξ(t) = ψ (t, ξ(η(t, ξ(t)))), a.e. t ∈ (0, T ],

ξ(0) = ξ0

under the two cases:
(i) η(t, ξ) ≤ t.

(ii) η(t, ξ) ≤ ξ.

Here we shall study the IVP of a state-dependent hybrid
functional differential equation

d

dt

{
ξ(t)− λ(t)

η(t, ξ(ξ(ϑ(t))))

}
= ψ (t, ξ(ξ(ϑ(t))), a.e. t ∈ [0, T ]

(1)
ξ(0) = A(0). (2)

Our aim in this work is to prove the existence of positive
solution of (1)-(2). The continuous dependence of the unique
solution on the functions λ, ψ will be proved. To illustrate
our results some examples will be given.
This paper consists of six sections. Section 1 is the in-
troduction and a brief survey of the topic. In Section 2,
we introduce the main theorem (existence). We prove the
uniqueness theorem in Section 3. Continuous dependence of
the solution has been proved in Section 4. Some examples
was introduced by Section 5. Finally, in Section 6; as an
application to our work, we give a numerical example, we
use successive approximation method to give an estimation
for the solution of a problem of this type.

II. EXISTENCE OF SOLUTIONS

First, We provide proof of the existence of positive solu-
tions ξ ∈ C[0, T ] for the state-dependent equation

ξ(t) = λ(t) + η(t, ξ(ξ(ϑ(t)))

∫ t

0

ψ (s, ξ(ξ(ϑ(s))) ds,

t ∈ [0, T ], (3)

under the following assumptions:
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(1) λ : [0, T ] −→ R+ is continuous and there exists a
positive constant c such that:

|λ(t2)− λ(t1)| ≤ c |t2 − t1|.

(2) η : [0, T ] × [0, T ] −→ R+ is continuous, non zero
on [0, T ] and

|η(t2, ξ)− η(t1, y)| ≤ k1|t2 − t1|+ k2|ξ − y|,

|η(t, 0)| ≤ A2

where k1, k2 and A2 are positive constants.

(3) ψ : [0, T ] × [0, T ] −→ R+ satisfies Carathéodory
condition.

(4) There exists a function m : [0, T ] −→ R+ where m is
measurable and bounded with m(t) ≤ A1, t ∈ [0, T ]
and a constant k3 ≥ 0 such that:

ψ (t, ξ) ≤ m(t) + k3 ξ.

(5) ϑ : [0, T ] −→ [0, T ], ϑ(0) = 0 and

|ϑ(t)− ϑ(s)| ≤ |t− s|.

This assumption implies that ϑ(t) ≤ t.

(6) There exists a real solution L ∈ (0, 1) for the equation

k2M1TL
2 − L+ (c+M1M2 + k1M1T ) = 0

where M1 = A1 + k3T , M2 = A2 + k2T.

(7) L T + |ξ(0)| ≤ T.

Theorem 2.1. Let the assumptions (1) − (7) be satisfied,
then the state-dependent equation (3) has a positive solution
ξ ∈ C[0, T ].

Proof. Define the set SL by

SL =
{
ξ ∈ C[0, T ] : |ξ(t2)−ξ(t1)| ≤ L |t2−t1|

}
⊂ C[0, T ].

Now define the operator H associated with (3) by:

H ξ(t) = λ(t) + η(t, ξ(ξ(ϑ(t)))

∫ t

0

ψ (s, ξ(ξ(ϑ(s)))ds,

t ∈ [0, T ].

First, we show that {H ξ} is uniformly bounded on SL. Let
ξ ∈ C[0, T ], then

|H ξ(t)| ≤ |λ(t)|+ |η
(
t, ξ(ξ(ϑ(t)))

)
|∫ t

0

|ψ
(
s, ξ(ξ(ϑ(s)))

)
|ds.

Using Assumptions (2) we can get

|η
(
t2, ξ(ξ(ϑ(t2)))

)
− η
(
t1, ξ(ξ(ϑ(t1)))

)
|

≤ k1 |t2 − t1|+ k2 |ξ(ξ(ϑ(t2)))− ξ(ξ(ϑ(t1)))|
≤ k1 |t2 − t1|+ k2 L |ξ(ϑ(t2))− ξ(ϑ(t1))|
≤ k1 |t2 − t1|+ k2 L

2 |ϑ(t2)− ϑ(t1)|
≤ k1 |t2 − t1|+ k2 L

2 |t2 − t1|, (4)

and

|η
(
t, ξ(ξ(ϑ(t)))

)
| ≤ k2|ξ(ξ(ϑ(t)))|+ |η(t, 0)|

≤ k2|ξ(ξ(ϑ(t)))|+A2 (5)

and from Assumptions (4) we can deduce that

|ψ
(
t, ξ(ξ(ϑ(t)))

)
| ≤ k3|ξ(ξ(ϑ(t)))|+m(t) (6)

≤ k3|ξ(ξ(ϑ(t)))|+A1. (7)

Also x ∈ SL implies that

|ξ(ξ(ϑ(t)))| ≤ |ξ(ξ(ϑ(t)))− ξ(0)| + |ξ(0)|
≤ L |ξ(ϑ(t))|+ |ξ(0)|
≤ L t+ |ξ(0)|
≤ L T + |ξ(0)| ≤ T. (8)

From (5)-(8), we obtain

|H ξ(t)| ≤ |λ (t)|+ (k2T +A2

)∫ t

0

(k3T +A1

)
ds

≤ |λ(t)|+M1 M2 T.

Assumption (1) implies that

|λ(t)| ≤ |λ(t)− λ(0)|+ |λ(0)|
≤ c t+ |ξ(0)|
≤ c T + |ξ(0)|.

Hence

|H ξ(t)| ≤ (c +M1 M2) T + |ξ(0)|
=

(
L−

(
k1 + k2L

2
)
M1T

)
T + |ξ(0)|

≤ L T + |ξ(0)| ≤ T.

This proves that {H ξ} is uniformly bounded on SL.
Next, we show that H : SL −→ SL and {H ξ} is equi-
continuous on the set SL.
Let x ∈ SL and t1, t2 ∈ [0, T ] with |t2,−t1| < δ, then

|H ξ(t2)−H ξ(t1)| =
∣∣ λ(t2)− λ(t1)

+ η
(
t2, ξ(ξ(ϑ(t2)))

) ∫ t2

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds

− η
(
t1, ξ(ξ(ϑ(t1)))

) ∫ t1

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds
∣∣

=
∣∣ λ(t2)− λ(t1) + η

(
t2, ξ(ξ(ϑ(t2)))

)
( ∫ t2

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds−

∫ t1

0

ψ
(
s, ξ(ξ(ϑ(s))

)
ds
)

+
(
η
(
t2, ξ(ξ(ϑ(t2)))

)
− η
(
t1, ξ(ξ(ϑ(t1)))

))∫ t1

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds
∣∣

≤ |λ(t2)− λ(t1)|+ |η
(
t2, ξ(ξ(ϑ(t2)))

)
|

|
∫ t2

t1

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds|

+ |η
(
t2, ξ(ξ(ϑ(t2)))

)
− η
(
t1, ξ(ξ(ϑ(t1)))

)
|

|
∫ t1

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds|

≤ |λ(t2)− λ(t1)|+ |η
(
t2, ξ(ξ(ϑ(t2)))

)
|∫ t2

t1

|ψ
(
s, ξ(ξ(ϑ(s)))

)
|ds
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+ |η
(
t2, ξ(ξ(ϑ(t2)))

)
− η
(
t1, ξ(ξ(ϑ(t1)))

)
|∫ t1

0

|ψ
(
s, ξ(ξ(ϑ(s)))

)
|ds.

From (4)-(8) we can get

|H ξ(t2)−H ξ(t1)|
≤ c|t2 − t1|+

(
k2|ξ(ξ(ϑ(t2)))|+A2

)∫ t2

t1

(
k3|ξ(ξ(ϑ(s)))|+A1

)
ds

+
(
k1 + k2 L

2
)
|t2 − t1|

∫ t1

0

(
k3|ξ(ξ(ϑ(s)))|+A1

)
ds

≤ c|t2 − t1|+
(
k2 T +A2

)(
k3 T +A1

)
|t2 − t1|

+
(
k1 + k2 L

2
) (
k3 T +A1

)
|t2 − t1| t1

≤ c|t2 − t1|+M2M1|t2 − t1|
+

(
k1 + k2L

2
)
M1T |t2 − t1|

=
(
c+M2M1 +

(
k1 + k2 L

2
)
M1T

)
|t2 − t1|

= L |t2 − t1|.

Then we proved that H : SL −→ SL and {H ξ} is equi-
continuous on SL. Applying Arzela-Ascoli Theorem ([24]
page (54)), we deduce that H is compact.
Next, we show that H is continuous. Let {ξn} ⊂ SL be such
that xn −→ x, (i.e, |ξn(t) − ξ(t)| ≤ ε ) this implies that
|ξn(ξ(ϑ(t)))−ξ(ξ(ϑ(t)))| ≤ ε∗, then for arbitrary ε, ε∗ ≥ 0,
we have

|ξn(ξn(ϑ(t)))− ξ(ξ(ϑ(t)))|
= |ξn(ξn(ϑ(t)))− ξn(ξ(ϑ(t)))

+ ξn(ξ(ϑ(t)))− ξ(ξ(ϑ(t)))|
≤ |ξn(ξn(ϑ(t)))− ξn(ξ(ϑ(t)))|
+ |ξn(ξ(ϑ(t)))− ξ(ξ(ϑ(t)))|
≤ L |ξn(ϑ(t))− ξ(ϑ(t))|
+ |ξn(ξ(ϑ(t)))− ξ(ξ(ϑ(t)))|
≤ L ε+ ε∗

which implies that

ξn(ξn(ϑ(t)))) −→ (ξ(ξ(ϑ(t)))) in SL.

Now from assumptions (2-4) and Lebesgues dominated con-
vergence Theorem ([10] page(151)), we get

lim
n−→∞

η
(
t, ξn(ξn(ϑ(t)))

)
= η

(
t, ξ(ξ(ϑ(t)))

)
and

lim
n−→∞

∫ t

0

ψ
(
s, ξn(ξn(ϑ(s)))

)
ds =

∫ t

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds,

hence

lim
n−→∞

(
Hξn

)
(t) = λ (t) + lim

n−→∞
η
(
t, ξn(ξn(ϑ(t)))

)
lim

n−→∞

∫ t

0

ψ
(
s, ξn(ξn(ϑ(s)))

)
ds

= λ (t) + η
(
t, ξ(ξ(ϑ(t)))

) ∫ t

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds

=
(
H ξ

)
(t).

This proves that H is continuous. Now according to ([23]
page (482)), there exist solutions ξ ∈ C[0, T ] of (3).
Also, from our assumptions, we can get

ξ(t) = λ(t) + η(t, ξ(ξ(ϑ(t)))

∫ t

0

ψ (s, ξ(ξ(ϑ(s)))ds ≥ 0,

t ∈ [0, T ].

Theorem 2.2. Let the assumptions (1) − (7) be satisfied,
then (1)-(2) has positive solutions ξ ∈ C[0, T ].
Proof. Let ξ be a solution of (1)-(2). Integrate (1), then
substitute by (2), we get (3). Let ξ be a solution of (3).
Differentiate (3) we obtain (1) and the initial value (2).
This proves the equivalence between (1)-(2) and (3). Then
(1)-(2) has positive solutions ξ ∈ C[0, T ].

The next corollary relax the assumptions and generalize
the results in [8] and [19].

Corollary 2.1. Using to Theorem 2.1 with η(t, ξ) = 1, then
the state-dependent equation

ξ(t) = λ(t) +

∫ t

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds, t ∈ [0, T ]

has solution ξ ∈ C[0, T ]. Consequently if λ(t) = ξ0, then

ξ(t)′ = ψ (t,
(
ξ(ξ(ϑ(t)))

)
a.e. t ∈ (0, T ] (9)

ξ(0) = ξ0 (10)

has positive solutions ξ ∈ C[0, T ].

III. UNIQUENESS OF THE SOLUTION

Here we introduce the uniqueness theorem of (1)-(2). For
this aim, we assume that:

(1′) |ψ (t, ξ)− ψ (t, y)| ≤ k3 |ξ − y|
(2′) sup |ψ (t, 0)| ≤ A1, t ∈ [0, T ].

Theorem 3.3. Let the assumptions (1)-(3), (5)-
(7), (1′) and (2′) be satisfied, if

(M2k3 +M1k2)(L+ 1)T < 1,

then The solution of (1) and (2) is unique.

Proof. From assumptions (1′) and (2′) we can deduce
assumption (4)

|ψ (t, ξ)| ≤ k3 |ξ|+ |ψ (t, 0)|
≤ k3 |ξ|+A1,
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thus using Theorem 2.1, (3) has at least a solution. Now, if
(3) has two solutions ξ and y, then

|ξ(t)− y(t)|

=
∣∣η(t, ξ(ξ(ϑ(t)))

) ∫ t

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds

− η
(
t, y(y(ϑ(t)))

) ∫ t

0

ψ
(
s, y(y(ϑ(s)))

)
ds
∣∣

=
∣∣η(t, ξ(ξ(ϑ(t)))

)∫ t

0

[
ψ
(
s, ξ(ξ(ϑ(s)))

)
− ψ

(
s, y(y(ϑ(s)))

)]
ds

+
[
η
(
t, ξ(ξ(ϑ(t)))

)
− η
(
t, y(y(ϑ(t)))

)]∫ t

0

ψ
(
s, y(y(ϑ(s)))

)
ds
∣∣

≤ |η
(
t, ξ(ξ(ϑ(t)))

)
|∫ t

0

|ψ
(
s, ξ(ξ(ϑ(s)))

)
− ψ

(
s, y(y(ϑ(s)))

)
|ds

+ |η
(
t, ξ(ξ(ϑ(t)))

)
− η
(
t, y(y(ϑ(t)))

)
|∫ t

0

|ψ
(
s, y(y(ϑ(s)))

)
|ds

≤ (k2 T +A2

)
k3

∫ t

0

|ξ(ξ(ϑ(s)))− y(y(ϑ(s)))|ds

+ k2 |ξ(ξ(ϑ(t)))− y(y(ϑ(t)))|
∫ t

0

(
k3 T +A1

)
ds

≤ M2 k3

∫ t

0

|ξ(ξ(ϑ(s)))− y(y(ϑ(s)))|ds

+ M1 k2 T |ξ(ξ(ϑ(t)))− y(y(ϑ(t)))|

and

|ξ(ξ(ϑ(t)))− y(y(ϑ(t)))|
= |ξ(ξ(ϑ(t)))− ξ(y(ϑ(t)))

+ ξ(y(ϑ(t)))− y(y(ϑ(t)))|
≤ |ξ(ξ(ϑ(t)))− ξ(y(ϑ(t)))|
+ |ξ(y(ϑ(t)))− y(y(ϑ(t)))|
≤ L|ξ(ϑ(t))− y(ϑ(t))|
+ |ξ(y(ϑ(t)))− y(y(ϑ(t)))|
≤ L‖ξ − y‖+ ‖ξ − y‖
= (L+ 1)‖ξ − y‖,

thus we have

‖ξ − y‖ ≤
(
M2 k3 +M1 k2

)
(L+ 1) T‖ξ − y‖

and (
1− (M2k3 +M1k2)(L+ 1)T

)
||ξ − y|| ≤ 0,

since (M2k3 +M1k2)(L+ 1)T < 1, then we get ξ = y and
the solution of (3) is unique. Consequently the solution of
(1)-(2) is unique.

Corollary 3.2. According to Theorem 3.3, let η(t, ξ) = 1
and λ(t) = ξ0, then (9) and (10) has a unique positive
solution ξ ∈ C(0, T ].
Now, as in [17] and [18], we introduce the next theorem.
Theorem 3.4. According to Theorem 3.3, we can
approximate the numerical solution of (3) by

ξ(t) = lim
n−→∞

ξn(t)

where ξn(t) is constructed by

ξn(t) = λ(t) + η
(
t, ξn−1(ξn−1(ϑ(t)))

)∫ t

0

ψ
(
s, ξn−1(ξn−1(ϑ(s)))

)
ds,

ξ0(t) = λ(t).

IV. CONTINUOUS DEPENDENCE

A. Continuous dependence on the function λ

Definition 4.1. The solution of (1) and (2) continuously
depends on λ if ∀ε1 > 0 ∃ δ1(ε1) > 0 such that:

‖λ− λ∗‖ ≤ δ1 =⇒ ‖ξ − ξ∗‖ ≤ ε1

where
d

dt

{
ξ∗(t)− λ∗(t)
η
(
t, ξ∗(ξ∗(t))

)} = ψ
(
s, ξ∗(ξ∗(s))

)
, a.e. t ∈ [0, T ]

(11)
with the initial data

ξ∗(0) = λ∗(0). (12)

Theorem 4.5. According to Theorem 3.3, the solution of
(1) and (2) continuously depends on λ.

Proof. Assume that the functions ξ and ξ∗ are the
two unique solutions of (1)-(2) and (11)-(12) respectively,
thus we have

|ξ(t)− ξ∗(t)|

=
∣∣λ(t) + η

(
t, ξ(ξ(ϑ(t)))

) ∫ t

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds

− λ∗(t)− η
(
t, ξ∗(ξ∗(ϑ(t)))

) ∫ t

0

ψ
(
s, ξ∗(ξ∗(ϑ(s)))

)
ds
∣∣

=
∣∣λ(t)− λ∗(t) + η

(
t, ξ(ξ(ϑ(t)))

)
( ∫ t

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds−

∫ t

0

ψ
(
s, ξ∗(ξ∗(ϑ(s)))

)
ds
)

+
(
η
(
t, ξ(ξ(ϑ(t)))

)
− η
(
t, ξ∗(ξ∗(ϑ(t)))

))∫ t

0

ψ
(
s, ξ∗(ξ∗(ϑ(s)))

)
ds

≤ |λ(t)− λ∗(t)|+ |η
(
t, ξ(ξ(ϑ(t)))

)
|∫ t

0

|ψ
(
s, ξ(ξ(ϑ(s)))

)
− ψ

(
s, ξ∗(ξ∗(ϑ(s)))

)
|ds

+
∣∣η(t, ξ(ξ(ϑ(t)))

)
− η
(
t, ξ∗(ξ∗(ϑ(t)))

)∣∣∫ t

0

|ψ
(
s, ξ∗(ξ∗(ϑ(s)))

)
|ds

≤ δ1 + (k2|ξ(ξ(ϑ(t)))|+A2)( ∫ t

0

k3|ξ(ξ(ϑ(s)))− ξ∗(ξ∗(ϑ(s)))|ds
)

+ k2|ξ(ξ(ϑ(t)))− ξ∗(ξ∗(ϑ(t)))|( ∫ t

0

(k3|ξ∗(ξ∗(ϑ(s)))|+A1)ds
)

≤ δ1 + (k2 T +A2) k3

∫ t

0

|ξ(ξ(ϑ(s)))− ξ∗(ξ∗(ϑ(s)))|ds

+ k2|ξ(ξ(ϑ(s)))− ξ∗(ξ∗(ϑ(s)))| (k3 T +A1)

∫ t

0

ds

≤ δ1 +M2 k3(L+ 1)‖ξ − ξ∗‖ t
+ k2 M1(L+ 1)‖ξ − ξ∗‖ t
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≤ δ1 +M2 k3(L+ 1)‖ξ − ξ∗‖ T
+ k2 M1(L+ 1)‖ξ − ξ∗‖ T
= δ1 + (k2 M1 + k3 M2) (L+ 1) T ‖ξ − ξ∗‖

thus

‖ξ − ξ∗‖
(
1− (k2 M1 +M2 k3) (L+ 1) T

)
≤ δ1

and

‖ξ − ξ∗‖ ≤ δ1(
1− (k2 M1 +M2 k3) (L+ 1) T

) = ε1

since (k2 M1 +M2 k3) (L+ 1) T < 1, then the solution of
(3) continuously depends on the functions λ. Consequently
the solution of (1) and (2) continuously depends on λ.

B. Continuous dependence on the function ψ

Definition 4.2. The solution of (1) and (2) continuously
depends on the function ψ, if ∀ ε2 > 0 ∃ δ2(ε2) >
0 such that :

‖ψ − ψ∗‖ ≤ δ2 =⇒ ‖x− ξ∗‖ ≤ ε2

where
d

dt

{
ξ∗(t)− λ(t)

η
(
t, ξ∗(ξ∗(t))

)} = ψ∗
(
s, ξ∗(ξ∗(s))

)
, a.e. t ∈ [0, T ]

(13)
with the initial data

ξ∗(0) = λ(0). (14)

Theorem 4.6. According to Theorem 3.3, the solution of
(1) and (2) continuously depends on the function ψ.

Proof. Assume that ξ and ξ∗ are the two unique solutions
of (1)-(2) and (13)-(14) respectively, then we get

|ξ(t)− ξ∗(t)|

=
∣∣λ(t) + η

(
t, ξ(ξ(ϑ(t)))

) ∫ t

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds

− λ(t)− η
(
t, ξ∗(ξ∗(ϑ(t)))

) ∫ t

0

ψ∗
(
s, ξ∗(ξ∗(ϑ(s)))

)
ds
∣∣

=
∣∣η(t, ξ(ξ(ϑ(t)))

)( ∫ t

0

ψ
(
s, ξ(ξ(ϑ(s)))

)
ds

−
∫ t

0

ψ
(
s, ξ∗(ξ∗(ϑ(s)))

)
ds

)
+ η

(
t, ξ(ξ(ϑ(t)))

) ∫ t

0

ψ
(
s, ξ∗(ξ∗(ϑ(s)))

)
ds

− η
(
t, ξ∗(ξ∗(ϑ(t)))

) ∫ t

0

ψ∗
(
s, ξ∗(ξ∗(ϑ(s)))

)
ds
∣∣

≤ |η
(
t, ξ(ξ(ϑ(t)))

)
|∫ t

0

|ψ
(
s, ξ(ξ(ϑ(s)))

)
− ψ

(
s, ξ∗(ξ∗(ϑ(s)))

)
|ds

+
∣∣η(t, ξ(ξ(ϑ(t)))

)
− η
(
t, ξ∗(ξ∗(ϑ(t)))

)∣∣∫ t

0

|ψ
(
s, ξ∗(ξ∗(ϑ(s)))

)
|ds+ |η

(
t, ξ∗(ξ∗(ϑ(t)))

)
|

( ∫ t

0

|ψ
(
s, ξ∗(ξ∗(ϑ(s)))

)
− ψ∗

(
s, ξ∗(ξ∗(ϑ(s)))

)
|ds
)

≤ (k2|ξ(ξ(ϑ(t)))|+A2)

( ∫ t

0

k3|ξ(ξ(ϑ(s)))− ξ∗(ξ∗(ϑ(s)))|ds
)

+ k2|ξ(ξ(ϑ(t)))− ξ∗(ξ∗(ϑ(t)))|( ∫ t

0

(k3|ξ∗(ξ∗(ϑ(s)))|+A1)ds
)

+ (k2|ξ∗(ξ∗(ϑ(t)))|+A2)

∫ t

0

δ2ds

≤ (k2 T +A2)

∫ t

0

k3(L+ 1)‖ξ − ξ∗‖ds

+ k2(L+ 1)‖ξ − ξ∗‖
∫ t

0

(k3 T +A1)ds

+ (k2 T +A2) tδ2

≤ M2 k3(L+ 1)‖ξ − ξ∗‖ t
+ k2 M1(L+ 1)‖ξ − ξ∗‖ t+M2 Tδ2

≤ M2 k3(L+ 1)‖ξ − ξ∗‖ T
+ k2 M1(L+ 1)‖ξ − ξ∗‖ T +M2 Tδ2

= (k2 M1 + k3 M2) (L+ 1) T ‖ξ − ξ∗‖+M2 T δ2,

thus

‖ξ − ξ∗‖
(
1− (k2 M1 +M2 k3) (L+ 1) T

)
≤M2 T δ2

and

‖ξ − ξ∗‖ ≤ M2 T δ2(
1− (k2 M1 +M2 k3) (L+ 1) T

) = ε2

since (k2 M1 +M2 k3) (L+ 1) T < 1, then the solution of
(1) and (2) continuously depends on ψ.

V. EXAMPLES

Example 5.1. Consider the state-dependent problem

d

dt

{
ξ(t)− 1+2t

32(
1
12 t+ 5

32 |ξ
(
ξ(β t)

)
|
)}

=
1

5− t
| sin

(
5(t+ 1)

)
|+ e−t

15

|ξ
(
ξ(β t)

)
|

1 + |ξ
(
ξ(β t)

)
|
(15)

with the initial data

ξ(0) =
1

32
. (16)

where t ∈ (0, 2] and β ∈ (0, 1]. Here we have: ϑ(t) = β t,

λ(t) =
1 + 2t

32
,

η
(
t, ξ(ξ(ϑ(t)))

)
=
( 1

12
t+

5

32
|ξ
(
ξ(β t)

)
|
)
,

ψ
(
t, ξ(ξ(ϑ(t)))

)
=

( 1

5− t
| sin

(
5(t+ 1)

)
|+ e−t

15

|ξ
(
ξ(β t)

)
|

1 + |ξ
(
ξ(β t)

)
|
)
,

thus we have: c = 1
16 , A1 = 1

3 , A2 = 1
6 , k1 = 1

12 , k2 =
5
32 , k3 = 1

15 , M1 = 7
15 , M2 = 23

48 , L ' 0.386 <
1 and L T + |ξ(0)| ≈ 0.80 ≤ T = 2.
Using Theorem 2.2, then (15)-(16) has positive solutions
ξ ∈ C[0, T ].
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Example 5.2. Consider the state-dependent problem

d

dt

{
ξ(t)− 1

15 (1− t2)(
1
4 t+ 1

9 |ξ
(
ξ(αt)

)
|
)} =

1

8

(
t+ | sin

(
ξ(ξ(αt))

)
|
)

(17)

with the initial data

ξ(0) =
1

15
. (18)

where t ∈ (0, 12 ] and α ∈ (0, 1]. Here: ϑ(t) = α t,

λ(t) =
1

15
(1− t2),

η
(
t, ξ(ξ(ϑ(t)))

)
=
(1

4
t+

1

9
|ξ
(
ξ(α t)

)
|
)
,

ψ
(
t, ξ(ξ(ϑ(t)))

)
=

t+ | sin
(
ξ(ξ(α t))

)
|

8
,

thus we have: c = 1
15 , A1 = 1

16 , A2 = 1
8 , k1 = 1

4 ,
k2 = 1

9 , k3 = 1
8 , M1 = 1

8 , M2 = 13
72 ,

L ' 0.1079 < 1 and L T + |ξ(0)| ≈ 0.121 ≤ T = 1
2 .

Also we have

(k2 M1 + k3 M2) T (L+ 1) ' 0.020 < 1.

Now form Theorem 3.3, the solution of (17)-(18) is unique.

VI. APPLICATION

Finally, we introduce an application of Theorem 3.4 in
the next numerical example.

Example 6.3. Consider the state-dependent problem

d

dt

{
ξ(t)−

(
1
2 t−

5
512 t

3
)

1
24

(
t+ |ξ

(
ξ(t)|

)) } =
1

2

(
t− |ξ

(
ξ(t)

)
|
)

(19)

where t ∈ (0, 1] with the initial data

ξ(0) = 0. (20)

with

ξ(t) =
(1

2
t− 5

512
t3
)

+
1

24

(
t+ |ξ

(
ξ(t)

)
|
) ∫ t

0

1

2

(
s− |ξ

(
ξ(s)

)
|
)
ds,

t ∈ [0, 1].

The exact solution of (19)-(20) is ξ(t) = 1
2 t. Here: ϑ(t) = t,

λ(t) =
(1

2
t− 5

512
t3
)
,

η
(
t,
(
ξ
(
ξ(ϑ(t))

)))
=

1

24

(
t+ |ξ

(
ξ(t)

)
|
)
,

ψ
(
t,
(
ξ
(
ξ(ϑ(t))

)))
=

1

2

(
t− |ξ

(
ξ(t)

)
|
)
,

then we have c = 271
512 , A1 = 1

2 , A2 = 1
24 , k1 = k2 =

1
24 , k3 = 1

2 , M1 = 1, M2 = 1
12 , L ' 0.673 < 1 and L T+

|ξ(0)| ≈ 0.673 ≤ T = 1. Also we have

(k2 M1 + k3 M2) T (L+ 1) ' 0.139 < 1.

Now using Theorem 3.3, the solution of (19)-(20) is unique.

TABLE I
COMPARISON BETWEEN THE EXACT SOLUTION AND APPROXIMATE

SOLUTION

t First approximation Second approximation Error 1 Error 2
0.1 0.0499999999205326 0.049999999999999 7.945E-11 1.006E-15
0.2 0.0999999974575626 0.099999999999812 2.54E-09 1.880 E-13
0.3 0.149999980699926 0.149999999996796 1.93E-08 3.204E-12
0.4 0.199999918708124 0.199999999976014 8.13E-08 2.398E-11
0.5 0.249999752066693 0.249999999885713 2.48E-07 1.143E-10
0.6 0.299999383513753 0.299999999590865 6.16E-07 4.0914E-10
0.7 0.349998668669012 0.349999998797650 1.33E-06 1.202E-09
0.8 0.399997406877573 0.399999996941931 2.59E-06 3.058E-09
0.9 0.449995332181913 0.449999993034889 4.67E-06 6.965E-09
1 0.499992104428274 0.499999985459222 7.90E-06 1.454E-08

Now, we use the method of successive approximation
(Picard Method) to estimate the solution of (19)-(20).

ξn(t) =
(1

2
t− 5

512
t3
)

+
1

24

(
t+ ξn−1

(
ξn−1(t)

))
∫ t

0

1

2

(
s− ξn−1

(
ξn−1(s)

))
ds (21)

ξ0(t) =
(1

2
t− 5

512
t3
)
. (22)

and
ξ(t) = lim

n−→∞
ξn(t).

(19)-(20) was programmed using Matlap software and the
results are shown in Table 1.
Table 1 shows the values of the solution obtained
in the first and the second iterations for different
values of t. We also calculated the error (
|Exact solution−Approximated solution| ) at every step.
Columns 4 and 5 in Table 1 give the errors corresponding
to the first and the second iterations respectively.
We deduce that the error will be very small when the
number of iterations increase. So, when n −→ ∞ the
approximated solution and the exact solution will coincide.
Here we calculated the error for the first and the second
iterations only since the error is very small in the next
iterations.

VII. CONCLUSION

In this paper, we have proved the existence, the unique-
ness, and the continuous dependence of the unique solution
of a state-dependent hybrid differential equation under suit-
able assumptions. Here we have generalized the results in [7],
[8], [17], and [18]. Some examples, to illustrate the obtained
results, have been given. Also, the method of successive
approximation has been used to estimate the solution of a
given example.
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